| =dstsd ZXY

s

T4 HM47

o 12 510

=

shsts

oH
E

-
ol
==

Ho

N

020124 128 159 EQ ¢ 9:00~18:00

e

-742] Al (9:00~9:30)-

SIE(SSOFHARE O[AE)

.I

x
S

N

ke

9l

(Eo|= =t AT E OARY)

ol
=

2

(2= )

xr
0
70

A

F

I.

AbZ|

SFENHLE H1E (9:30~12:30)

2fLH)

/ EEXf O|lt==(7HHLH)

S 28 OAFPR MR K/ERK)

| BN

= (222 CH)

X0

&

A

/ EEXt 7X|OH= 2UICH)

-Z4Al (12:30~13:30)-

(S=TLH)

A

SENULE H25 (13:30~16:30)

7t 22t O|LLE(IHFE/EBX)

EB/BHAXK)

ANE QX Z(EEE

Hin
Kr

F

7tel #1x|et

F

Kl

ol
=

.I

EE

k

97SHMIS )

Jod
oll

stofl M2l

/ EEX}

oK
Il

T2 SEolth &

e
[=]
2

trx{Zio]

-84 (16:30~17:00)-

27|(S=LH)

~d

INZ=I

SSTEE (17:00~18:00)

2(s=tH)

<[0
<d

1o

(18:30~20:30)-

¥

|
od

3




